MCHE 513: Intermediate Dynamics
Fall 2018 — Homework 2

Assigned: Thursday, August 30th
Due: Friday, September 14th, 5pm

Assignment: From “Engineering Dynamics” by Jerry Ginsberg, problems:
3.8, 3.10, 3.16, 3.20, 3.37, 3.38, 3.52

Submission: Emailed single pdf document:
e to joshua.vaughan@louisiana.edu
e with subject line and filename ULID-MCHE513-HW2, where ULID is
your ULID
e Note: Submissions with incorrect filenames or submitted as multiple

images/pdfs will be rejected.


mailto:joshua.vaughan@louisiana.edu
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Exercise 32,10
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Exercise 3,16
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Exercise 320
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Exercise 3.37
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Exrercise 3,38
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Exenrcise 3,3 8 (coat.)
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Exercise 3.52
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Exercise 3.62 (coatl)
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